INSTRUCTIONS: Answer each of the following questions. In order to receive full credit on the non-multiple
choice questions your answer must be complete, legible, and correct. You must also show all of your work
and give adequate explanations on the non-multiple choice questions. No partial credit will be given on the multiple
choice questions. No calculators, no books, no notes are allowed on this exam.

1. Stanley drives from Boulder to Pancake, Colorado, which is a small town on the way to the Kansas-Colorado .
border. For the first hour of his trip Stanley averages 45 miles per hour; Stanley then averages 60 miles per
hour for the remaining 90 miles of his trip.
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(b) (3 points) How long did Stanley drive?
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(¢) (3 points) What was Stanley’s average velocity?
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2. (4 points each) Match each function with the correct graph. (Note that there are more graphs than functions.)

7 —1—6
(a) f(’ﬂ) = m Graph: B

S - P; / (-\," ;’- -~
& VERT ASYmPrs7e S

;:'1"‘71 .j__ s | - ;;%
Bl o) = —er s . 1 Ve n . E il ElETA s
¥, v N — b '.;- -
N 4 Vf ﬂ f f}g‘\;‘ Mp
)
i+ 2 —6 D ‘ X 4 / "1 Yo
h(z) = aph: _ L A )= AT K =2 :
() i) (z — 2)(z + 3) S i — { 2
X4 -2) AR EXCEAT A
/ 1 ! ) ‘! e ‘j
: o : . : A o
| | £ v
[ 24 | ol |
| ! |
! [ |
I 1 I / [
| | |
= ] | : : | /
=i -5 A 1 % 73 4
| | —1+ |
| ! I
! ! |
| | =2 |
| | !
| i : |
I | —31 |
! | |
Graph A Graph B

|
[i=S
\
(98]
\
]
I
\
—
t t t + t
ek, ’
P R S et b e s s
Caad
e
it
=
L
o)
L
b
|
—
\
e
|
=
o+
a3
s

Graph C Graph D



3. (4 points each) Using the graphs below, circle the correct, or approximate, value for each of the following
expressions.
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4. (4 points each) Circle the correct answer for each of the following problems.

(a) Let f(z) = v1—z2 Then f'(z) =
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(d) Let g(x) = tan’(z). Then g'(z) =
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(e) Let h{z) = —Jr_ Then b/ (z) =
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5. A 20 foot ladder is leaning against a wall, with its base 12 feet from the wall, so the top of the ladder is 16 feet
4
from the ground. The base of the ladder begins to slide away from the wall at the rate of 3 feet per second.

(a) (4 points) What is the AVERAGE rate of change of the height of the ladder from its initial position until
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(b) (6 points) When the base of the ladder is
down the wall?
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6. (6 points) Below is the graph of a function. Graph its derivative on the coordinate axes provided.
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7. (8 points) Find the coordinates of all points on the graph of|y = 22 at which the tangedt line passes through

: the point (1,0). 0 6: X

Pla,b)

it

Tp,.\J LfNE 70 '3‘
THAT PASSES THU U 0)

BT Plab) BE THE Powwt
OF TANGEWMcY ,

Since. P15 ow 4 x WE MUST Hauf Jo-
F}(l)

so P tes CooRDINATES P(a/ a"”)

THE GLoJE oF THE (mmm LINE Tirw (a,00) Aw (1Lo) )5

m = }_\“8 0 5 a*
A“"( a~| THESF
BuT BLSO THE SWIE oFTHE TANGEUT LNE fS ! E?fst
ol [ 1] : | y
w = £y = Qi/ = “/CE THEY
x ~
a_ :q Xza QQ\ é—“\/ ARE T4E
/;,./“" § M“'\ 6[0|DE 0F THE
Qa o / ' : SAME LiwE
— — ! g
(/3| f ' o (&z ug) =
2afa-)za” | L
" o aTe THEU P HAS 600}205
26 -2a & | % Coorps Pla ;4) P(.?
z

LIVE
v N P(D\ [A") C‘{
A 20 =0 ’
ala-2y=o "'i’Pg%") | ?P(:z o ;

THERE: ARE Two PQ,UUTS 6F TﬁNGEdJG‘/{



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

